REASON, PURPOSE & RESULT

Type A,B C or D on the box

1. | left the party early | was feeling a bit tired.

a) because b) as ¢) since d) all of the answers
2. Liz and Hugh went to live in Spain the bad weather in
England.

a) so b) because c) because of d) all of the answers
3. Our car broke down last week we came by train.

a) so b) because c) because of d) all of the answers
4. | sold my car the high cost of petrol, tax, insurance and so
on. It was costing me a small fortune!

a) so b) because c) because of d) all of the answers
5. Increased global temperatures are factory emissions,

increased car usage, many more people flying than ever before and so on.
a)dueto b)caused by c) the result of  d) all of the answers

6. Which of the following answers fits best into this informal
conversation?

“Anyway, John was boring, we never went anywhere, I’'m going
out with Steve now. We have much more fun.”

a) so b) as a result c) consequently d) therefore

7.We can’t go skiing in Andorra a lack of snow this
year

a) because b) because of c) so that d) for the purpose of
8. He failed his exam going to a party instead of
studying.

a) due b) therefore c)as aresult of d)caused by

9. I didn’t know what to do this weekend. | didn’t do
anything.

a) so b) therefore c) as a result d) all of the answers
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10. People go to the gym get fit and healthy.
a) so that b) in order to d) for d) for the purpose of
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